Premier Broadcasting Effingham

Effingham, IL 62401

P.O. Box 988

Client:

**CITIZENS FOR MYERS** 

Order #:

2296-00004

Description:

Date Entered:

3/12/2018

P.O.#:

Salesperson:

Kralman - P, Doc

Invoice Frequency: Billed at end of Media/EOS, Sorted by Date

HODAS & ASSOC 960 CLOCK TOWER DRIVE SUITE J SPRINGFIELD, IL 62704

**On-Air Schedule** 

5	Start Date	End Date	<b>Station</b>	Scheduled Time/Event	Repeated	Length	Qty	Rate	Total	<u>M</u>	Tu	W	<u>Th</u>	F	Sa	Su
1	3/13/2018	3/19/2018	WXEF-FM	06:00:00a to 10:00:00p	CUSTOM	1:00	59	12.65	746.35	Υ	Υ	Y	Y	Υ	Υ	Υ
	3/13/2018	3/18/20	018				47	12.65	594.55	0	8	8	8	8	8	7
	3/19/2018	3/19/20	018				12	12.65	151.80	12	0	0	0	0	0	0

Order Start Date: 3/13/2018

Order End Date: 3/19/2018

Spots: 59

Total Charges:

\$746.35

**Combined Discounts:** 

\$111.95

**Total Net:** 

\$634.40

Project	ed Media Month/End-	Of-Schedule Billing Totals	for CITIZENS FOR	R MYERS / 2296-00004	l:
		Spot Count	Gross Billing	Combined Disc.	Net Billing
March	2018	59	\$746.35	\$111.95	\$634.40

Confirmed & Accepted for Premier Broadcasting Effingham By:

Accepted for HODAS & ASSOC By:

Premier Broadcasting Effingham

P.O. Box 988

Effingham, IL 62401

Client:

CITIZENS FOR MYERS

Order #:

2296-00005

Description:

Date Entered:

3/12/2018

P.O.#:

Salesperson:

Kralman - P, Doc

Invoice Frequency: Billed at end of Media/EOS, Sorted by Date

HODAS & ASSOC 960 CLOCK TOWER DRIVE SUITE J SPRINGFIELD, IL 62704

**On-Air Schedule** 

1	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	<u>Total</u>	M	<u>Tu</u>	W	<u>Th</u>	<u>F</u>	Sa	<u>Su</u>
1	3/13/2018	3/19/2018	WKJT-FM	06:00:00a to 10:00:00p	CUSTOM	1:00	68	10.35	703.80	Υ	Y	Υ	Υ	Υ	Υ	Υ
	3/13/2018	3/18/2	018				54	10.35	558.90	0	10	10	9	9	8	8
	3/10/2018	3/10/2	018				14	10.35	144 90	14	0	0	0	0	0	0

Order Start Date: 3/13/2018

Order End Date: 3/19/2018

Spots: 68

Total Charges:

\$703.80 \$105.57

**Combined Discounts:** 

\$598.23

**Total Net:** 

Projecte	d Media Month/End	-Of-Schedule Billing Totals f	or CITIZENS FOR	MYERS / 2296-0000	5:
		Spot Count	Gross Billing	Combined Disc.	Net Billing
March	2018	68	\$703.80	\$105.57	\$598.23

Confirmed & Accepted for Premier Broadcasting Effingham By:

Accepted for HODAS & ASSOC By:

## BROADCAST CONTRACT

## PREMIER

BROADCASTING, INC.

206 South Willow • P.O. Box 988 Effingham, Illinois 62401 Tel: 217-347-5518 Fax: 217-347-5519





v.979xfm.com www.kjcountry.con

					Contract to a second		All Control	La Constitution	ter a filtra silve		40 001		100		TO LONG SECTION TO THE SECTION OF
	3/12/	118	_ Со-Ор:				J	ob # •	Est #	• P.O	. # _				
ales Rep. #:	5		Product	Code:											
.dvertiser: _		a	tizens	for 1	Nyers	1									
lient/Agen	cy Name:		Ho	Was of	assoc	rates									
1.1			960	) ( local	1 loux	en XIM	ve !	Suit	te -	T					
ity:		Sprin	rafield	2		State:	De			Zip:	6.	270	4		@
uver/Conta	act Person:	6le	on He	2 odas	Phoi	ne: 217-	391	-38	gif	_ Fax	21	7-	le lol	6-6	1655
STATION				BEGIN TIME						HEDI					SUBTOTA
		1	23		111 2120000 000000000000000000000000000		WEE 2	K M		W			S	10	
WEF	60	-113	3/19	6A	105	12.65gr	7/10	3 / 2	_	8	8	0	8	1	47
						10.75 met	2/10	9 12	-			├	-	-	12
								_	-	_	_	_	_	-	
37									-			_		_	
		,												_	,
UKIT	60	3/13	3/19	GA	108	10.35 8.80 met	3/1	2	10	10	9	9	8	8	54
						8.80 met	3/19	14							14
						,,									
									†						
								$\neg$	$\dagger$						
							_	$\dashv$	+			$\vdash$		$\vdash$	
omments /	/ Cart#:							STATI	ON T	otal Nu	mber o	f Spots	Tota	l Amo	unt of Orde
							×	WXI	F	5	9		17	46	.35 2
					0.164			WK.	IT	6	8		7	03.	80 g
				(	CLIENT A	PPROVA	' L			Removado Al Colego		A WALL CONT. TO	1	15	0,15
	Approva	l includes a	cceptance o	of this "Broa	dcast Cont	ract" as we	ll as a	cceptan	ce of '	'Term	s and	Con	dition	s."	

days, all spots ran will then be pro-rated and the difference between contract and rate card rate(s) will be assessed and charged to the client. It is further understood and agreed that if payment is not received within thirty (30) days following the date of the invoice, the Client agrees to pay (in addition to the amount of the invoice,) interest at the rate of 1.5% per month on any unpaid balance until paid in full. Client further agrees to pay all attorney fees and expenses incurred by Premier Broadcasting, Inc. in collecting any amounts due it. All further service to be provided are also expressly subject to the Client's acceptance of these Terms and Conditions. The Client agrees that these Terms and Conditions shall apply to all future advertising orders. No oral statement of any person shall modify on otherwise affect the foregoing Terms and Conditions.

Thank you for doing business with PREMIER BROADCASTING, INC.

Authorized By: \_\_\_\_\_\_ Station Representative: \_\_\_\_\_\_

Cetizens for Myens

12.65 gr 10.75 not UKEF 10.35 gr 8.80 not WKJT

59 x 10.75 = 634.25 68 ( 8.80 = 598.40 1232.65 34,36.98 1269.63

1275° net 59 X 12.65 gv = 746.35 68 X 10.35 gr = 703.80

1450.15

\$750° gross ea station \$1500°°

NAB Form PB-18 Candidates

## AGREEMENT FORM FOR POLITICAL CANDIDATE **ADVERTISEMENTS**

(abook applicable box)

(check applicable box)
□ FEDERAL CANDIDATE STATE/LOCAL CANDIDATE
To Avail Themselves Of The Lowest Unit Charge During A Political
Window, Federal Candidates Must Sign The Certification On Page 3
Window, Federal Candidates Must Sign The Certification On Page 3  Station and Location: Date: 3/13/18 WEF-FM 97.9 & WKJT-FM 102.3 EFF.NXdf4m, L.
I, GLENN HODAS
being/on behalf of: LAURA MYERS
a legally qualified candidate of the REPUBLICAN
political party for the office of: STATE REALESENTATIVE
in the 2018 PRIMARY
election to be held on: MARCH 20, 2018
do hereby request station time as follows:
Broadcast Length 60 Rec
Broadcast Length 60 Rec.  Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed 1 Time of Day, Rotation or Package
Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed 1
Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed 1 Time of Day, Rotation or Package
Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed 1 Time of Day, Rotation or Package Days Class
Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed 1 Time of Day, Rotation or Package  Days Class  Times per
Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed 1 Time of Day, Rotation or Package  Days Class  Times per  Number of Week  Weeks
Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed 1 Time of Day, Rotation or Package  Days Class  Times per  Number of Week  Weeks
Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed 1 Time of Day, Rotation or Package  Days Class  Times per  Number of Week  Weeks

NAB Form PB-18 Candidates

I represent that the payment for the above described broadcast time has been furnished by: CITIZENS FOR MYERS

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is: DouALD MEHAUS

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

To Be Signed By Candidate or Authorized Committee

Date Signature X

0/12/10

To Be Signed By Station Representative

Signature Printed Name Title Valuate Kindle

Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed 2